NEBRASKA DEPARTMENT OF TRANSPORTATION UNIFORM RENTAL AND CLEANING SERVICES, R316-25

BID OPENING DATE: July 03, 2025 BID TABULATION

VENDOR

Ideal Linen

Big Springs Shop					
				UNIT PRICE:	
				WEEKLY FLAT	
				RATE PER TOTAL	EXTENDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	WEEKLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	COST
Short Sleeve Shirt	EA	11	1	\$ 0.48	\$ 5.28
Denim Pants	EA	11	1	\$ 0.48	\$ 5.28
Shop Towels per 50	EA	1	N/A	\$ 3.50	\$3.5
Floor Mat 3 x 10	EA	1	N/A	\$ 6.70	\$ 6.70
Floor Mat 4 x 6	EA	3	N/A	\$ 5.36	\$ 16.0
Floor Mat 3 x 5	EA	1	N/A	\$ 4.20	\$ 4.20
			Total:	\$ 20.72	\$ 41.0

Broken Bow Shop:								
				UNIT PR	ICE:			
				WEEKLY	FLAT			
				RATE PE	RATE PER TOTAL		EXTENDED	
	UNIT OF	GARMENT	NO. OF	INVENTORY PER		WEEKLY		
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	l	cos	Т	
Short Sleeve Shirt	EA	11	2	\$	0.48	\$	10.56	
Denim Pants	EA	11	2	\$	0.48	\$	10.56	
Shop Towels per 50	EA	1	N/A	\$	3.50	\$	3.50	
Floor Mat 3 x 5	EA	3	N/A	\$	3.48	\$	10.44	
			Total:	\$	7.94	\$	35.06	

Gothenburg Shop						
				UNIT PRICE:		
				WEEKLY FLAT		
				RATE PER TOTAL	EXT	ENDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	WEE	KLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	COS	T
Short Sleeve Shirt	EA	11	1	\$ 0.48	\$	5.28
Denim Pants	EA	11	1	\$ 0.48	\$	5.28
•			Total:	\$ 0.96	\$	10.56

Lexington Shop						
				UNIT PRICE:		
				WEEKLY FLAT		
				RATE PER TOTAL	EXT	TENDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	WE	EKLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	cos	ST
Short Sleeve Shirt	EA	11	1	\$ 0.48	\$	5.28
Denim Pants	EA	11	1	\$ 0.48	\$	5.28
Shop Towels per 50	EA	2	N/A	\$ 2.86	\$	5.72
Floor Mat 3 x 5	EA	6	N/A	\$ 4.39	\$	26.34
Floor Mat 2 x 3	EA	1	N/A	\$ 2.40	\$	2.40
			Total:	\$ 10.61	\$	45.02

Mullen Shop						
				UNIT PRICE:		
				WEEKLY FLAT		
				RATE PER TOTAL	EXT	ENDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	WEE	KLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	cos	Т
Short Sleeve Shirt	EA	11	1	\$ 0.48	\$	5.28
Denim Pants	EA	11	1	\$ 0.48	\$	5.28
shop Towels per 50	EA	2	N/A	\$ 3.92	\$	7.84
Floor Mat 3 x 5	EA	2	N/A	\$ 5.24	\$	10.48
Floor Mat 3 x 5	EA	1	N/A	\$ 4.60	\$	4.60
Floor Mat 3 x 5	EA	1	N/A	\$ 5.24	\$	5.24
Floor Mat 3 x 10	EA	2	N/A	\$ 8.43	\$	16.86
			Total:	\$ 28.39	\$	55.58

North Platte Shop							
				UNIT PRIC	CE:		
				WEEKLY F	LAT		
				RATE PER	TOTAL	EXT	ENDED
	UNIT OF	GARMENT	NO. OF	INVENTOR	RY PER	WE	EKLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER		cos	Т
Short Sleeve Shirt	EA	11	3	\$	0.48	\$	15.84
Denim Pants	EA	11	3	\$	0.48	\$	15.84
Shop Towels per 50	EA	2	N/A	\$	2.63	\$	5.26
Floor Mat 3 x 5	EA	4	N/A	\$	5.66	\$	22.65
Floor Mat 3 x 10	EA	2	N/A	\$	9.28	\$	18.56
Floor Mat 4 x 6	EA	2	N/A	\$	7.81	\$	15.63
Floor Mat 2 x 3	EA	2	N/A	\$	4.62	\$	9.24
			Total:	\$	30.96	\$	103.02

North Platte I-80						
				UNIT PRICE:		
				WEEKLY FLAT		
				RATE PER TOTAL	EXTE	NDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	WEEK	LY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	COST	
Short Sleeve Shirt	EA	11	1	\$ 0.48	\$	5.28
Denim Pants	EA	11	1	\$ 0.48	\$	5.28
Shop Towels per 50	EA	1	N/A	\$ 6.24	\$	6.24
Floor Mat 3 x 5	EA	2	N/A	\$ 9.18	\$	18.36
Floor Mat 3 x 5	EA	1	N/A	\$ 7.08	\$	7.08
Floor Mat 3 x 10	EA	1	N/A	\$ 11.54	\$	11.54
			Total:	\$ 35.00	\$	53.78

Ogallala Shop						
				UNIT PRICE:		
				WEEKLY FLAT		
				RATE PER TOTAL	. E	EXTENDED
	UNIT OF	GARMENT	NO. OF	INVENTORY PER	W	VEEKLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	c	OST
Short Sleeve Shirt	EA	11	1	\$ 0.48	3 \$	5.28
Denim Pants	EA	11	1	\$ 0.48	3 \$	5.28
Floor Mat 3 x 5	EA	2	N/A	\$ 4.75	; \$	9.50
Floor Mat 4 x 6	EA	1	N/A	\$ 6.44	\$ با	6.44
Floor Mat 3 x 10	EA	3	N/A	\$ 6.47	7 \$	19.41
			Total:	\$ 18.62	2 \$	45.91

District Headquarters						
DESCRIPTION	UNIT OF MEASURE	GARMENT INVENTORY	NO. OF WEARERS	UNIT PRICE: WEEKLY FLAT RATE PER TOTAL INVENTORY PER WEARER	EXTE WEEK COST	NDED (LY
Floor Mat 3 x 5	EA	4	N/A	\$ 4.78	\$	19.14
Floor Mat 4 x 6	EA	1	N/A	\$ 6.20	\$	6.20
Floor Mat 3 x 10	EA	2	N/A	\$ 9.17	\$	18.34
			Total:	\$ 20.15	\$	43.68

Traffic Engineering							
				UNIT PRICE:			
				WEEKLY FLA	Т		
				RATE PER TO	TAL	EXTE	NDED
	UNIT OF	GARMENT	NO. OF	INVENTORY	PER	WEEK	LY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER		COST	
Floor Mat 3 x 5	EA	3	N/A	\$	6.12	\$	18.36
			Total:	\$	6.12	\$	18.36

Stapleton Shop						
				UNIT PRICE:		
	UNIT OF	GARMENT	NO. OF	RATE PER TOTAL	EXT	ENDED
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	cos	
Shop Towels per 50	EA	1	N/A	\$ 5.03	\$	5.03
Floor Mat 3 x 5	EA	4	N/A	\$ 4.66	\$	18.64
Floor Mat 3 x 10	EA	2	N/A	\$ 7.49	\$	14.98
			Total:	\$ 17.18	\$	38.65

Wallace Shop						
	UNIT OF	GARMENT	NO. OF	UNIT PRICE: WEEKLY FLAT RATE PER TOTAL INVENTORY PER	WE	TENDED EEKLY
DESCRIPTION	MEASURE	INVENTORY	WEARERS	WEARER	CO	ST
Shop Towels per 50	EA	1	N/A	\$ 5.30	\$	10.60
Floor Mat 4 x 6	EA	1	N/A	\$ 7.43	\$	7.43
Floor Mat 3 x 10	EA	2	N/A	\$ 4.51	\$	9.02
Floor Mat 4 x 6	EA	1	N/A	\$ 8.03	\$	8.03
_			Total:	\$ 25.27	\$	35.08